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TrigonometryExercise8 Answers for No.9395

1=90 M
= — = = - = - 5 .
AnsI=[90 3043 =38.038], ., Ans2=[/41-204/2 =3.566], , Ans3 .2=(arctan(_J:32'0050j’ 1!
h

1=125] | M

Ansd = 182.033, , AnsS=185.590, , Ans6 =228, ,Ans7—[.2:72}’ v

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXXX XX XKXXX XX KXXKXXKXKXXXXKXXKXKXXME /1-6500308-00002XX
TrigonometryExercise8 Answers for No.9419

1=(964/3 = 166.277) M

Ansl =[138 —464/3 = 583261, , Ans2=[/74—354/3 =3.658], , Ans3 = 843 b
.2 =| arctan 3 =46.826 !

h

@
.1:106} M
2=53] 'l U

Ans4 =141.925, , Ans5=128.143, , Ans6 =292, , Ans7=[

T
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TrigonometryExercise8 Answers for No.9428

1=(204/3 = 34.641) M
Ansl =[684/3 = 117.779], , Ans2=[/58—=214/2 =5.320], , Ans3— 3 RN
.2=|arctan| — |=16.102 !
h
1=297] | M
Ans4=141.682, , Ans5=75.383, , Ans6=120, Ans7—[2=210}, U
T
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TrigonometryExercise8 Answers for No.9459

1= (3243 =55.426) M

Ansl =[60—204/3 =25359], , Ans2=[/25—124/3 =2.053], , Ans3 = 164/3 RN
.2 =| arctan = 18.888 t

h

Ans4=191.413, , Ans5=93.937, , Ans6=294, Ans7:[] - 106}, s M
.2=153 U
T
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TrigonometryExercise8 Answers for No.9476

=90 M
Ansl =[764/3 = 131.636], , Ans2=[+/65—-284/2 =5.040], , Ans3= 2—(arctan(1—5j—34287°j’ |
h

1=366] | M

Ans4 =141.682, , Ans5=114.123, , Ans6 =213, , Ans7—[2:183}, U

T
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TrigonometryExercise8 Answers for No.9491

1=(604/3 =103.923) M
a
Ansl =[1384/3 =138 =101.023], , Ans2=[+/31 =5.568], , Ans3— 104/3 b
.2 =| arctan =39.515 !
h

@
.1:131} M
2=841 |l U

Ans4=151.783, , Ans5=80.999, |, Ans6=177, Ans7=[

T
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKK KX KKKX KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXXX KX XXXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6500308-00007XX
TrigonometryExercise8 Answers for No.9633

1= (2443 =41.569) M

Ansl =[904/3 —90=65.885], , Ans2=[3+/5-24/2 =4421], , Ans3= 243 RN
.2 =| arctan =21.052 t
h

@
.1:248} M
2=1430 | U

Ans4=172.229, , Ans5=101.992, , Ans6 =303, , Ans7:[

T
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TrigonometryExercise8 Answers for No.9711

1= (2443 =41.569) M

Ansl =[844/3 —84=61.492], , Ans2=[3+/5-243 =3.718], , Ans3= 243 RN
.2 =| arctan =17.480 t
h

@
.]:284} M
2=1630 | U

Ans4 =141.825, , Ans5=155.153, , Ans6 =232, , Ans7=[

T
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TrigonometryExercise8 Answers for No.9784

1=(604/3 =103.923) M

Ansl = [1444[3 = 144=105.415], , Ans2=[/130—63+/3 =4.570], , Ans3= 543 RN
.2 =| arctan =47.269 t

h

@
.1=380} M
2=190) | U

Ans4=161.631, , Ans5=107.261, , Ans6=170, , Ans7=[

T
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TrigonometryExercise8 Answers for No.10143

1=(9643 = 166277) M

Ansl =[1264/3 —=126=92238], , Ans2=[/41-204/3 =2.522], , Ans3 = 164/3 RN
.2 =| arctan =50.309 t

h

@
.1:135} M
2=95] | U

Ans4=161.287, , Ans5=75.200, , Ans6=247, , Ans7 :[

T
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TrigonometryExercise8 Answers for No.10359

1=96 M

Ansl =[1044/3 =180.133], , Ans2=[/65—284/2 =5.040], , Ans3 2:(arctan(£j:32'6190], |
h

1 =392 M
Ans4=151.650, , Ans5=72.291, , Ans6=305, |, Ans7—[2 _ 300}, U
T
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TrigonometryExercise8 Answers for No.10626
M
1=96

Ansl =[1084/3 —108=79.061], , Ans2=[44/5-24/2 =5895], , Ans3 ZZLarCtan(gjﬁ%”O]’ |
h

@
Ans4 =181.830, , Ans5=130.012, , Ans6 =300, , Ans7=[’]2:_17034}, , ]g

T
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TrigonometryExercise8 Answers for No.11002

=66 M
= — = = = = 1 ;
Ansl =[78 —264/3 =32.967], , Ans2=[/73 =8.544], , Ans3 _2:(arctan(_j:26.5650), 0
h

1=112] | m

Ans4 =161.850, , Ans5=115.203, , Ans6=129, AnS7_[.2:56}’ U

T
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TrigonometryExercise8 Answers for No.11188

=78 M
Ansl =[ 14443 — 144 = 105.41 Ans2 = _7. Ans3 = 13 @
nsl =[1444/3 05.415], . Ans2=1[+/57 =7.550], . Ans3 .2=(arctan(—j=30.579°]’ |
h

1 =402 M

Ans4 =162.050, , Ans5=128.492, , Ans6 =186, , Ans7—[2:231}, U

T
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TrigonometryExercise8 Answers for No.11505

1= (8443 = 145.492) M

AnsI =[904/3 —90 = 65.885], , Ans2=[24/7 =5292], , Ans3= 1443 R
.2 =| arctan =51.920 t

h

1=436 M
Ans4=152.033, , Ans5=289.292, , Ans6=236, , Ans7= [2 = 250}’ U
T

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKKX XX KKKX KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXXXX KX KXXKXX XX KXXXXKKXKXXXXKXKXKXKXXME /1-6500308-00016XX
TrigonometryExercise8 Answers for No.12113

1=(90+/3 = 155.885) M
a
Ansl =[138 —464/3 =58326], , Ans2=[/61 =7.810], , Ans3= 154/3 RN
.2 =| arctan =44.979 t
h

=322 M
Ans4 =141.432, , Ans5=137.743, , Ans6 =124, , Ans7—[2 _ 207}, U
T
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TrigonometryExercise8 Answers for No.12541

1=(6043 =103.923) M

Ansl =[844/3 —84=61.492], , Ans2=[/97—-364/2 =6.789], , Ans3 = 104/3 b
.2 =| arctan =39.515 !

h

Ans4=141.382, , Ans5=60.550, , Ans6=115, |, Ans7=[é i ;gﬂ, s

NS XE
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TrigonometryExercise8 Answers for No.12590

=60 M
a
Ansl =[1564/3 =156 = 1142001, , Ans2=[+/74-3542 =4.9501, , Ans3=| (arctan _] 277590)’ 1!
19
h
@
1=104] | M
Ans4=191.384, , Ans5=105.841, , Ans6= 142, ’A”S7‘[.2=67}’ U
T
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TrigonometryExercise8 Answers for No.12621

1=(90+/3 = 155.885) M
a
Ansl =[T76+3 =131.636], , Ans2=[457 =7.550], , Ans3 = 54/3 ,
: : : ] .2:(arctan( [j:51.052°j t
h

.1 =108 M
Ans4=172.179, , Ans5=82.569, , Ans6=289, , Ans7 —[ 2=170 }’ U
T
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TrigonometryExercise8 Answers for No.12641

1=(3243 =55.426) M

Ansl =[1564/3 — 156 = 114.200], , Ans2=[+/73 —24+/2 =6.250], , Ans3= 164/3 e
.2 =| arctan =23.744 t

h

@
.]=308} M
2=176 | U

Ans4=141.242, , Ans5=96.134, , Ans6=232, Ans7=[

T
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TrigonometryExercise8 Answers for No.12674

1=(664/3 =114315) M

Ansl = [4443 =76210], , Ans2=[4/85-4243 =3.501], , Ans3= 114/3 RIS
.2 =| arctan =49.977 {
h

i :355}

Ans4 =141.292, , Ans5=121.995, , Ans6=193, , Ans7=[2:204

NS RE
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TrigonometryExercise8 Answers for No.12728

1=(78+3 = 135.100) M

Ansl =[1324/3 = 132=96.631], , Ans2=[34/3 =5.196], , Ans3— 134/3 RIS
.2 =| arctan =51.361 t
h

= 355}

Ans4=131.800, , Ans5=77.023, , Ans6=146, , Ans7 = [2 04
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